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AN ROINN OIDEACHAIS,

BRAINSE AN GHAIRM-OIDEACHAIS,

CERTIFICATE EXAMINATIONS

for

DAY VOCATIONAL COURSES, 1959.

MATHEMATICS,
Thursday, 18th June.—10 to 1 p.m.

INSTRUCTIONS,

(a) Attempt Question 1 and six others,

(b) The marks allotted to each

question are shown in
brackets under.

(c) Mathematical Tables are supplied.

(d) Special credit will be give

n to candidates who display
neatness and order in answering

(¢) All the work must be shown in the answer book,

X 64
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4
L. (¢) Simplify - (8%-1—13—5_-‘1—?%
-7'

(b) Using any short methods you know evaluate
(6:5)2+(3:5)
Give your angwer correct to two decimal places.

(©) From the equation W=EI—RI2, find the value of
E when W=60, R=5 and I-—2.
(@)

Find the cost of 3 tons 12 cwt. 3 qrs. of coal at
8 15s. per ton.

(¢) Factorige -
(i) 22—6218 ; (ii) Sx*—2Ty8.
[20 marks.]




)
»

2. "Tho prico oharged by n contractor for bhuildi,
wan onloulntod on the basis of £000 for matorinly,
wagoes, togother with 209, of the total cost of matorinly 0
wagon an eatimated profit,  Whoen the worlk wan onpyie| Ot (.
oont. of matorinls had deorensed by 10%, and the oy, Of Wigreyg

incronsod by 74%,. What actual profit did tho sontraotoy M
on thoe job

B By,
N fop

[10 marky,

3. An attondanco of 30 students at n parbioulnr oy,
ropresonts 100%, atfondance, Draw a graph to show bhe
relation hetween notual attendanoo and poreontingo nttendan e
From your graph, find tho poereentago attondaneo on dnyy
when 21 and 87 students wero prosent, reapoctivoly, (hool
your result by n onleulation in each cnse.

[10 marks, |

4. (@) Using tho book of tablos supplied, write down the
value of cach of the following ;— log 100-6; log 0-008602 -

antilog 0:0004 ; antilog 29248,
(b) Evalunte using logarithms :

207-2¢/0:03802
[0-5T (0-6051)

[10 marks.]

b. Prove that the external angle of o trianglo is equal Lo
the sum of the opposite internal angles,

Hence or otherwise show that tho anglo in a somi-circle
is o right angle,

[12 marks, |

6. Two pipes, A and B, bring water to a tank and o bhird
pipo C takes away the waste, Pipe A can fill the tonk in
2 hours and pipe B in 3 hours, whilo pipe ¢! can empty a full
tank in 13 hours,

Find how long it will tako to fill tho tank when (i) A and I3
are flowing togoether and C is elosed, (i) A and B are flowing
together and C is open, and (iii) A and B flow togoethor for
20 minutes hefore C is opened.

[12 marks. |



»

olve the equations =—

7.8
0734 1) +0-4(42+3)=0.

(i) 0-2(2z—1

(i) 6s—Ty=>9

(iii) 6224-0=13%-
[14 marks.]

3. (@) Construct the angle whose sine is 3 and calculate
the value of its cosine and tangent.

(b) From the diagram shown in Fig. 1 determine the
lengths of AC, CD and BD.

[14 marks.]
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9. Calculate the weight of the timber prism showy i,
Fig. 2. The timber weighs 50 lbs. per cubic foot.

(Hint : Drop a perpendicular from the point A to pgge
of triangle.)

[14 ma-rks,]

Fe, 2

10. The following table gives the results of an experiment
to find the relation between the quantities x and y.

x 3 4‘6 8 9 10

y | 748 | 913 ‘ 122-2 | 152-9 | 1685 | 184:2

Plot the graph connecting z and y and find (@) the value
of y when =1, (b) the law of the graph in the form y=mz--c.

[14 marks.]



